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  3.  Based on the given information, the terminal side of A is in quadrant IV, so the terminal  

        side of 
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  4.  Arc length is found by 		s = rq,  so we have 		s =(6)(3)=18.  Adding the two radii gives a  

        total of 30. 
  5.  The two angles will be complementary, so 		3x +10+4x +3= 90® x =11.  
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  7. 		2sin2 x -2sin2 xcosx -sinxcosx +sinx =0®2sin2 x(1-cosx)-sinx(cosx -1)= 0®   

       		2sin2 x(1-cosx)+sinx(1-cosx)= 0®(1-cosx)(sinx)(2sinx +1)= 0.  Setting these  

        three factors equal to 0, we get          
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        of the distinct solutions is 	20p.  
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10.  	sin1°= cos89°. Using this idea and 		sin2 x +cos2 x =1,  we see that there are 44 pairs of 1    

        in each quadrant, giving a total of 176.  The “	45° angles” in each quadrant give 
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        for a total of 2.  The four quadrantal angles give a total of 2.  The grand total is 180. 

11.  The graphs of 		y = x2 +1 and 		y = sinx  never intersect, so 0. 
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17.  There is no work to do here.  If 		P(x)= 8,  Vieta’s formulas tell us that the product is 8.  
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21.  The given information sends us to Quadrant IV and the adjacent side has length 8.   

        

	

tan2q =
2tanq

1- tan2 q
®

2 -
15

8

æ

èç
ö

ø÷

1- -
15

8

æ

èç
ö

ø÷

2
=

-
15

4

-
161

64

=
240

161
.   

 



22.  
		
sin x <

1

2
 over 

	

0,
p

6

é

ë
ê

ö

ø÷
 and 

	

5

6
p , 2p

æ

èç
ù

û
ú. This is 

	

2

3
 of the total interval. 

23. 		2
sin2 x = 4cosx ®2sin2 x = 22cosx ®sin2 x =2cosx®1-cos2 x -2cosx = 0®  

       		cos2 x +2cosx -1=0. 		cosx = -1+ 2.  		cosx  will take on this value twice in each interval  

        of 
	

0, 2pé
ë

ù
û ,  so there are 8 solutions overall. 

24.  Since the given expression is a root of the equation, 
		
x =

cosq

1+sinq
.  We can divide the  

        quadratic equation by x to get 
		
x + 4+

1

x
= 0. Now we have 

	

cosq

1+sinq
+4+

1+sinq

cosq
= 0.  

        This leads to 
	

cos2 q+(1+sinq)2

(1+sinq)(cosq)
= -4®

cos2 q+sin 2q+2sinq+1

(1+sinq)(cosq)
®

2+2sinq

(1+ sinq)(cosq)
= -4  

        
	
®

2

cosq
= -4®cosq = -

1

2
®q =120°.  

25.  	sin2q=2sinqcosq. Since 
		
tanq =

k

3
,  then 

		

sinq =
k

k2 + 9
 and 

		

cosq =
3

k2 +9
.  Using  

        these values, 
		
2sinqcosq =

6k

k2 +9
.  

 


